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Question Number : 1 Question Id : 5832241247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following option is an alternate name for a combination of four bits?

Options:

1 ® Bit

- « Nibble
5 % Byte

4 = Digit

Question Number : 1 Question Id : 5832241247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 5832241248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A CPU with a clock rate of 3.5 KHz can perform clock cycles per second.
Options:

, % 35.00,000

, % 3.50,000

2 35.000
4 & 3,500

Question Number : 2 Question Id : 5832241248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 5832241249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Charles Babbage is also known as:
Options:

, « Father of computers

> # Father of transistors

% # Father of world wide web

4 % Father of internet

Question Number : 3 Question Id : 5832241249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 5832241250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

With respect to the computer system applications. CAM stands for:
Options:
, % Computer-Aided Malfunctioning

> % Coordinated And Manipulated

5  Computer-Aided Manufacturing

, » Computer-Aided Microprogramming

Question Number : 4 Question Id : 5832241250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 5832241251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keys is used to toggle between “insert” and “overwrite™ modes during data enfry?

Options:

1 « Insert
~ % Enter
z % Esc

4 % Shift

Question Number : 5 Question Id : 5832241251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 « Insert

> % Enter
z # Esc
4 % Shift

Question Number : 6 Question Id : 5832241252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following mouse actions allows you to select and move an item from one location to another?

Options:
1 ® Left Click

> » Right Click
= % Double Click

4  Dragand Drop

Question Number : 6 Question Id : 5832241252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 5832241253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Laser printers have lower DPI than dot-matrix printers.
IT) The printout taken by a printer is known as soft copy.

Options:
;% I- False. II - True

> % 1-True, II - False
= % 1-Tme, II-True
4 « 1-False II - False

Question Number : 7 Question Id : 5832241253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 5832241254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I)LCD A) Bulky
I) Plotter  B) Printing vector graphics
IIT) CRT C) Light weight

Options:
. I-CII-B.II-A

, « [-AII-B.II-C
5 [-B.II-AII-C
.« [-B.I-C.II-A



Question Number : 8 Question Id : 5832241254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=eteT & Fee F:4
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Options:
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Question Number : 9 Question Id : 5832241255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The FORTRAN is a:
Options:

, % Machine language

-~ » Assembly language

5 » Second-generation language

4  High-level language

Question Number : 9 Question Id : 5832241255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 5832241256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to multimedia, MIDI stands for:

Options:



, % Memory Instrument Digital Interface

> % Musical Instrument Distributed Interface

5 » Memory Inspired Digital Interface

4  Musical Instrument Digital Interface

Question Number : 10 Question Id : 5832241256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 11 Question Id : 5832241257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following statements is false?
Options:

; = Asoftware is a collection of programs and data.
> % Operating system is a system software.

5 w Antivirus is a utility software.

4 w MS-DOS is an example of application software.

Question Number : 11 Question Id : 5832241257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 5832241258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Adobe’s Acrobat Reader is a(n):
Options:

, w System software
> #% Firmware

= o Freeware

4 % Open-source software

Question Number : 12 Question Id : 5832241258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 5832241259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The total storage capacity of a PC having two RAM chips of capacity 1.5 MB and 512 KB is:

Options:
1« 2MB

> % 2GB
5 % 128 MB
4 % 1.5GB

Question Number : 13 Question Id : 5832241259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1.5 MB 3X 512 KB &t&@a13i & ar 1\ (RAM) =9 arer 9t (PC) #r Ff $SRUT (Fele)) &7AaT g
Options:

L v 2 MB
, ® 2 GB

- = 128 MB
. # 15 GB

Question Number : 14 Question Id : 5832241260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 1.5 Gigabytes?

Options:



, % 1236 Megabytes

» % 1263 Megabytes

5 1536 Megabytes

4 % 1563 Megabytes

Question Number : 14 Question Id : 5832241260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| 1236 FmeETSE
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. » 1536 FemaTEe
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Question Number : 15 Question Id : 5832241261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about BIOS is false?
Options:

, w BIOS stands for Basic Input/Output System.

-~ % BIOS is a type of firmware.

= « BIOS is stored in RAM.

4, % BIOS is used to perform hardware initialization during the booting process.

Question Number : 15 Question Id : 5832241261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 5832241262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



[P-address 1s also known as:
Options:
, w» Physical address

> % MAC address
-  Logical address

4 % Port address

Question Number : 16 Question Id : 5832241262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 5832241263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key combinations is used to close an open window in Windows?

Options:

1 ® Ctrl +F4
> « Alt+F4
z u Ctrl + Alt

4 % Shift +'W

Question Number : 17 Question Id : 5832241263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% Ctrl + F4
.« Alt + F4

2 = Ctrl + Alt
. = Shift + W

Question Number : 18 Question Id : 5832241264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the shortcut key to display Windows Task Manager?



Options:
1 % Ctrl + Shift + Del

> « Cirl + Alt + Del
3 # Ctrl + Tab + Del
4 % Ctrl + Tab + Shift

Question Number : 18 Question Id : 5832241264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = Ctrl + Shift + Del
> « Ctrl + Alt + Del

z % Citrl + Tab + Del

4 # Ctrl + Tab + Shift

Question Number : 19 Question Id : 5832241265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Alt—+ Tab shortcut key is used to switch between running programs.
IT) Utilities such as calculator are listed i installed programs list.

Options:
; « 1-True, II-False

o 8 L False. II - True
= ® I-Tre, II - True

4 % 1-False II - False

Question Number : 19 Question Id : 5832241265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 5832241266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Hibernate A) Close the current user session only
II) Sleep B) Saves the current state to hard disk

IIT) Logoff  C) Saves the current state to main memory

Options:
; » I-AII-B.II-C

> % I-AII-C.II-B
5 % [-C.II-B.II-A
L v I[-B.II-C.II-A

Question Number : 20 Question Id : 5832241266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 5832241267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A person managing the configurations and operations of a computer system is called:

Options:
, = Manager

- % End-users
=  System administrator

4, % Computer operator

Question Number : 21 Question Id : 5832241267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 5832241268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid version of Windows operating system?

Options:
1 % Windows XP

> « Windows 2016
z % Windows §
4 # Windows 7

Question Number : 22 Question Id : 5832241268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % s XP
- v TSI 2016
5 % fasISt 8
o TR

Question Number : 23 Question Id : 5832241269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a shortcut key to switch between the open tabs of a browser?

Options:
1 « Ctrl + Tab
> % Alt+Tab

3 % Win + Tab
4 % Shift + Tab

Question Number : 23 Question Id : 5832241269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

1 « Ctrl + Tab
> % Alt + Tab

= % Win + Tab
4 % Shift + Tab

Question Number : 24 Question Id : 5832241270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Symmetric key encryption algorithm is also called encryption technique.

Options:
, % public

-  private
5 w protected

4 % hidden

Question Number : 24 Question Id : 5832241270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 5832241271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, w Integrity

> % Durability
= % Robustness

4  Authenticity

Question Number : 25 Question Id : 5832241271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 5832241272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether Tirue or False,

I) Proxy servers are used as firewalls.
IT) Signature-based intrusion detection techniques are effective against known malware.

Options:
1 # I-True, II-False

> % 1-False, II - True
2  1-True, II- True

4 % 1-False II - False

Question Number : 26 Question Id : 5832241272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 5832241273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a valid extension for compressed files?
Options:

1 % .7z



5 #% .rar
- % .tar

4 o .exe

Question Number : 27 Question Id : 5832241273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 & .7z

- # .rar

z = .tar

4 o .BXe

Question Number : 28 Question Id : 5832241274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS comunands is used to move a file from one location to other location?

Options:
| % MV

> « MOVE
5 ® MOV
4 ® TRANS

Question Number : 28 Question Id : 5832241274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 & MV

- «+ MOVE
= % MOV
4 ® TRANS

Question Number : 29 Question Id : 5832241275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of erasing all contents of a disk is called:

Options:
, % Wiping

- # Removing

- » Cleaning



4 « Formatting

Question Number : 29 Question Id : 5832241275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o % FoAAT
4  BTHETET

Question Number : 30 Question Id : 5832241276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows systems. maximum number of primary partitions of the Hard Disk is:

Options:
1 % 3
oW
3. ® 5
4 % 6

Question Number : 30 Question Id : 5832241276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1% 3
> 4
z % 5
4 % 6

Question Number : 31 Question Id : 5832241277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Files with .BAK extensions are backup files.
II) DIR command of DOS is used to list all files and folders of a directory.

Options:
1 ® I-True, II-False

» % 1-TFalse II - True



z  1-Tme, II-True

4 % 1-False II - False

Question Number : 31 Question Id : 5832241277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T T AT FAC:

) BAK TeFHENA T B SFHT TS 2T 2
) 377 & DIR FAT5 fFdr sTaed 1 wafr wigeil 3R Biestl # THag F F o0 9g7d 2 gl

Options:
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Question Number : 32 Question Id : 5832241278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
DCul+H A) Center alignment
IT) Ctrl + Shift + F  B) Change the font type
IT) Ctrl + E C) Find and Replace

Options:
; » I-AII-B.II-C

, % I-C.II-AII-B
5w [-C.II-B.II-A
4 % I-B.II-AII-C

Question Number : 32 Question Id : 5832241278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 5832241279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to detect spelling and granunatical errors in MS-Word?

Options:

1 ® Shift+F7
> ® Ctl+F7
3 % Alt+F7
4 « F7

Question Number : 33 Question Id : 5832241279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH T3 (MS-Word) & aaair 3R szmtor waedr et &1 war s & e osfof@a 7 & G
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Options:

. % Shift + F7
, % Ctrl + F7
i AT

4« F7

Question Number : 34 Question Id : 5832241280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS-Word, pressing “Home” key moves the cursor at the beginning of the:
Options:

, w Paragraph

- % Document

5 o Current line

4 % BScreen

Question Number : 34 Question Id : 5832241280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH 35 (MS-Word) # “Home” & galel & &8 $T 3 H 3T AT 2
Options:

1 #® m
w 5

> R &



ngqﬁ
4_&51‘#1?

Question Number : 35 Question Id : 5832241281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is used to align text to both the left and right margins. adding extra space between words as
necessary?

Options:

, % Regular

> % Left

= % Center

4 o Justify

Question Number : 35 Question Id : 5832241281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HETFAFER HARFa TF gat 918 # 715 3R iR e Afaa & Wad & & o @ 7
¥ Fi-ar REew ggaa gar 82

Options:

TR

1 ® 3

o B ﬁ'EI-E'
z B '@’;ET
4 e ”'é

Question Number : 36 Question Id : 5832241282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS-Word, pressing Ctrl + Y results m:
Options:

1 « Redo

Undo

®

&
= % Zoom
4

% Auto Correct

Question Number : 36 Question Id : 5832241282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TATHE-92 (MS-Word) H Ctrl + Y Za & 2T ¢

Options:
1. ¢ Tz



4 ® MUETEI?QEE

Question Number : 37 Question Id : 5832241283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word, group contains the find. replace. and go to commands.

Options:
; w clipboard

> % font
- u Styles
4 o cditing

Question Number : 37 Question Id : 5832241283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THUH-IE (MS-Word) & AT H @ (F%3), ‘Feer (Reorm) 3 ST (3 ) A B 8
Options:

Lwﬁ-?ﬂﬁﬁé‘
z.wﬁﬁ'

kil
4 v UiEfET

Question Number : 38 Question Id : 5832241284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Ctrl + ] increases font size by 1 point.
IT) Ctrl + [ decreases font size by 1 point.

Options:
1« I-Tme, II-True

> % 1-True, II- False
% L- False. II - True

4 % 1-False II - False

Question Number : 38 Question Id : 5832241284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



HEr T T 410

) Ctrl + ] Wle€ F HFE & 1 9IS T T 2l
) Ctrl + [ Fle€ & HTHT FT 1 IS TeT T 2l

Options:

Lo -, -
wer, |l - I

> % |-
5w | - 70, Il - FE
o ow |- FTed, |l - e

Question Number : 39 Question Id : 5832241285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =LEN("123 4 5 6") is:

Options:
1.+ 11
~ % 0
= % 0
4 % 13

Question Number : 39 Question Id : 5832241285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TFHT THFRIOT = LEN("1 2 3 4 5 6") &7 AT g
Options:

1« 11

> % B

z % 0

4 % 13

Question Number : 40 Question Id : 5832241286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression = SUM(S. 5, TRUE, FALSE., TRUE, FALSE) is:

Options:
1 ® 10

P 12
2 ® 11
4 % 13

Question Number : 40 Question Id : 5832241286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

TFHS FAGOT = SUM(5, 5, TRUE, FALSE, TRUE, FALSE) T AT gFT:
Options:

1 & 10

> o 12

42 13

Question Number : 41 Question Id : 5832241287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =CEILING(16. 5) is:

Options:
1 ® 14

o B 15
=z B 16

4.« 20

Question Number : 41 Question Id : 5832241287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UFOe THERIoT =CEILING(16, 5) &1 A= grem|

Options:

, & 14
- % 15
z % 16
4 v 20

Question Number : 42 Question Id : 5832241288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Excel functions returns FALSE if all its argnments are FATSE and returns TRUE otherwise?

Options:

1 ® AND
> o OR
z % NOT
4 % IF

Question Number : 42 Question Id : 5832241288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T/ # ¥ FI9-°91 0T BT T g7 & FALSE g9 9T FALSE gfioms 3T 3=amr TRUE
qioTH 2ar T




Options:

1 % AND
> « OR
z ® NOT
4 % IF

Question Number : 43 Question Id : 5832241289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following symbols are commonly known as wildcard in Excel?

Options:
R E

i @,

g W
3¢ o

in @%

Question Number : 43 Question Id : 5832241289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

= 7 8 #l7-0 e vo0a & 3G W aSesaE & A7 ¥ I I 87
Options:

% #
2 ® @,

Question Number : 44 Question Id : 5832241290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is the correct Excel expression to solve
(Log 264 + Log 4 64)?

Options:

, % =LOG(2. 64) + LOG(4. 64)

> % —LOG((2, 64) (4. 64))

5 & —LOG((64, 2) + (64, 4))

4 v —LOG(64. 2) + LOG(64. 4)

Question Number : 44 Question Id : 5832241290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

(Log , 64 + Log 4 64) & g8 & & AT e & T Fia-ar vade gHA+I0T TEr e



Options:

. % =LOG(2, 64) + LOG(4, 64)
, « =LOG((2, 64) + (4, 64))
. « =LOG((64, 2) + (64, 4))
, v SLOG(84, 2) + LOG(64, 4)

Question Number : 45 Question Id : 5832241291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether Tirue or False,

I) A grid with labeled columns and rows is called a Workbook.
IT) Goal Seek helps to quickly reorganize. summarize. explore, analyze and present data.

Options:
1 % I-Tre, II - True

> % 1-True, II- False

% L- False, II - True

4 « 1-False II - False

Question Number : 45 Question Id : 5832241291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HEl IT T F410;

) rw B & Few 3 O dww v ge 8 3@ awaE T S 2

) ‘=ier € 32T FT Aehr [AAAIETd HIA, Hiaed He, doree, eaia & 6 95 ga = A
FSg FIT 2l
Options:
L ow |- ®EL Nl - HEY
x| - T, Il - T

5w | - 70, Il - FEY

o |- T, - e

Question Number : 46 Question Id : 5832241292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) SAS3  A) Mixed cell reference
IT) A3 B) Relative cell reference
III) AS3 C) Absolute cell reference
Options:



1« I-CI-B,II-A

> % 1-B,II-CII-A
z % I-C.II-ATI-B

4 # I-AII-B . II-C

Question Number : 46 Question Id : 5832241292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=taET # 1 e F:3
7e-1 -2

) $A$3 A) FFrs o T
) A3 B) freifes o THiH
1y A$3 C) TeHIeIE W IHIH
Options:
L@ l-C, I-B, Il -A
ol -B 11-C, IIl-A
sxl-C ll-A Il -B
Lxl-AN-Blll-C

Question Number : 47 Question Id : 5832241293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first search engine created was:
Options:

, » Google

5 % Netscape

- % Safari
4 « Archie

Question Number : 47 Question Id : 5832241293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9gell T S=ie T
Options:

1. % g S

g_wm‘?
3_&5'-\:[:"?'-&-
4 v FHTE



Question Number : 48 Question Id : 5832241294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet Explorer is a(n) developed by

Options:
, w Search engine. Microsoft

- u Compiler. IBM
5 » Search Engine, IBM

4  Browser, Microsoft

Question Number : 48 Question Id : 5832241294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SeTAC TFATEIRY U g, = o Refaa &

Options:

, % HEIFOR, A (IBM)
5 % T §HA, RETH (IBM)
4_¢m,ﬂlﬁﬁﬂ'\'ﬁﬁ'

Question Number : 49 Question Id : 5832241295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Moving from one webpage to another is called:

Options:

| % Moving

5  DBrowsing
= ® Transferring

4 % Switching

Question Number : 49 Question Id : 5832241295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
U ¥ TES A99 9 A F F@T AT g
Options:

HiaT

1 ® ™,

EJW
. % TEEBNAT
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Question Number : 50 Question Id : 5832241296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Email messages are transmitted in the form of:

Options:
1 « Packets
> % Words

5 % Fragment

4 8 Datagram

Question Number : 50 Question Id : 5832241296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SH TS 5§ 9 H 9T T a9 &
Options:

14‘%

g_wﬁ-ﬁ'lﬁ?
4 % SCHENH

Question Number : 51 Question Id : 5832241297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Webcam is used for video conferencing.
II) The letter *S” in HTTPS 1s used for secure comumnunication.

Options:
, % I-True, II-False

5 L False. II - True
z  1-Tme, II-True

4 % 1-False II - False

Question Number : 51 Question Id : 5832241297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Her AT Tl a4T0

) Jaha SifEar FSpeT & e IuarEr Far e 2
Il) HTTPS & ‘S’ Tféa ¥=R & o ggaa g 2

Options:



Lo |- - e
o ow |- Fed, Il - wE
2w |-, Il - =

, x| -, Il - e

Question Number : 52 Question Id : 5832241298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Wordpress A) Search engine
IT) Godaddy B) To create blog
III) Baidu C) Web hosting
Options:

. % I-AII-B.II-C
, « [-C.II-B.II-A
5 [-B.I-C.II-A
, % [-B.II-AII-C

Question Number : 52 Question Id : 5832241298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

f=ofeT & o= =&

Te-1 He-2
) T=9H A) BT 35
) 7 28 B) 9T g4 F oT
Iy C) a= FfEasT

Options:
2 l-A ll-Blll-C
>ul-C. -8B Il-A
sl =B IN-C Il -A
42 l-B ll-A.lll-C
READING COMFREEHERMSION
Section Id : 583224176
Section Number : 2
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224176
Question Shuffling Allowed : Yes

Question Id : 5832241299 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension



Read the following passage and answer the questions given
after it.

Vijay Tendulkar, the prolific Marathi playwright. has become a
name to be reckoned with not only as far as Marathi stage is
concerned but also in Indian theatre. A journalist by profession.
Tendulkar has tried his hand at various genres as a creative writer.
These include articles. short stories. one act plays. dramas.
screenplays and dialogues, literary criticism and translations.
Though he has been successful in whatever he has tried but his forte
remains drama. An excellent wielder of pen. he has won the
Sangeet Natak Academy Award. the Kamla Devi Chattopadhyay
Award and the Padma Bhushan.

For Tendulkar the inspiration comes from the society around him.
He is a keen observer of the human relationships especially in
lower and middle class society. He has written twenty- eight full-
length plays and in almost all of them. women play crucial roles in
the plot.

Whether it is Sakharam Binder, Shantata Court Chalu Aahe,
Kamla, Gidhade, Baby, Ghasiram Koiwal, Mitfrachi Goshia,
Kanvadan or Ek Hatti Mulagi. one gets a feeling that there is an
underlying current of sympathy towards the women characters
created by him. In Shantata Court Chalu Aahe. although Tendulkar
is looking closely at the tangled web of human relationships. yet in
the end it is the heroine who comes out to be stronger than the male
characters.

In Shantata Court Chalu Aahe and Sakhram Binder. Tendulkar
raises several questions about love. sex. marriage and moral values
prevalent in the society. It is the society which asks everyone to
confirm to its own yardsticks of decorum and propriety. The writer
makes ample use of irony, satire. pathos and even mock- element
to highlight the hollowness of middle class moralities. These
moralities might be having slight variations but at all times and all
ages they remain the same.

Sub questions

Question Number : 53 Question Id : 5832241300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Vijay Tendulkar’s name is eminently associated
with which of the following?

Options:

1 % Journalism

> « Theatre



= % Social reforms

4 % Feminism

Question Number : 54 Question Id : 5832241301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who inspired Vijay Tendulkar the most?
Options:

1 +« The lower and the middle class

- % [Ihe aristocracy

% % The downtrodden

4 # The labour class

Question Number : 55 Question Id : 5832241302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In his plays for whom does Vijay Tendulkar
seem to depict a soft corner?

Options:

1 % The middle class

> % The dalits

= « Women

4 % Theunderprivileged

Question Number : 56 Question Id : 5832241303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following plays has NOT been

written by Vijay Tendulkar?
Options:

1 # Sakharam Binder

> % Kamla

- # Shantata Court Chaalu Aahe

4  Yayati

Question Number : 57 Question Id : 5832241304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vijay Tendulkar uses the mock element and satire to

Options:
|« expose the hollowness of middle class morality

- % show wvariations in moralities



5 » discuss love, sex, marriage efc.

4 % show empathy for women

Question Id : 5832241299 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 5832241300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e dge @1 A Aeaf@e § @ el
gfaffsa & ¥ 1 27

Options:

1 ® EECIETI]

- o THT

HATS 4

o ®

4 % O IR

Question Number : 54 Question Id : 5832241301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=g ageret &1 wed Faer 9a w1

dTell 2T.
Options:

. v fa=er 3R megs 39
o w HTASATT T

5 % Giotd

4 % HHF T

Question Number : 55 Question Id : 5832241302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o=t agoret & Al ¥ fraes Iid 3

TIH T & 94T Toiar g2
Options:

| % HEFH T
, « o
3.#“?%?"'”#

4 % AT T

Question Number : 56 Question Id : 5832241303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
faafi@a 7 9 FiF-91 A o7 dga
o =&r for@r &7




Options:
] - 78R TESR
- R ehH

il AT FiE T HE
4 v TS

Question Number : 57 Question Id : 5832241304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
oy i :
st dgee 3TETHeA® deal AN W
T FAT F o == §

Options:

| v FOR-FET AfSFar F @rgeds #r e
o w oAfawar F e w7 fm=

- » 9H, ¥FE, AEE e == =

, x FECnHT & 5w

QUANTITATIVE AFPTITULE
Section Id ; 583224177
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224177
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 5832241305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If the difference between a two-digit number and the number obtained by interchanging the digits is 63. then find the
difference between the digits of the number.

Options:
i W

6
2_-&3—1
5

3 ®



47

Question Number : 58 Question Id : 5832241305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe et 3 #T T TEIT AR 3UF R F WER TeoT &af I II°d &l arell T&IT F HIX 63 & ar
3H HEAT & 3R & € H{ag AT FL

Options:

1 % 5
> R 4
o ® 5

4.9 7

Question Number : 59 Question Id : 5832241306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arunika bought some articles and sold half of them at ¥ 22,103, thereby making a profit of 15%. At what price should
she sell the rest of them so as to earn a total profit of 25%?7?

Options:
| v 325947

> » T23.528
5 » 27,130

4w $24,682

Question Number : 59 Question Id : 5832241306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3O FT THA WEAT & AR 39H F 3 & T 22,108 F a9 & &, 5w 3% 15% v oamt wra
BT 81 &% §T WA H TF hE Hed W A T IH o 25% F AT 9Iea 2

Options:

, « 25,947
> u T 23,528
- % < 27,130

. % T 24,682

Question Number : 60 Question Id : 5832241307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of the question mark (?) in the following number series?
20, 38, 74, 146, 290, ?

Options:
1 ® 576



> o 578
s % 580
4 % 574

Question Number : 60 Question Id : 5832241307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ol g&Tr yEer & Feaed (?) & T TR FT HIT?

20, 38, 74, 146, 290, ?
Options:

, % 576
, » 578
- 580
. = 574

Question Number : 61 Question Id : 5832241308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 40 students in V-A. The average weight of these students is 42 kg. One of the students leaves the class and the
average weight of the class drops by 150 grams. What is the weight of the student who leaves the class?

Options:
; % 45kg

,  46.85kg

L o 47.85kg

, % 48.15kg

Question Number : 61 Question Id : 5832241308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
F&T V-A T 40 gt § == ReafEat & situg 3o9= 42 = g1 v et Far sgex oo sm
g 3R Faw F7 HT I 150 IMH FH T F1GT F| FaT TSR I I Feared F awT I 32

Options:

, % 45 fpar

> % 46.85 faam
= « 47.85 Tam
4 % 48.15 faam

Question Number : 62 Question Id : 5832241309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A husband and a wife have monthly incomes in the ratio 5 : 6 and monthly expenditures in the ratio 3 : 4. If they save
T 1.800 and ¥ 1.600, respectively, find the monthly income of wife:



Options:
;% T3.400

> » T2,700
o 1720

4 T7.200

Question Number : 62 Question Id : 5832241309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

vE ofa AR Il A AfEE A & 3T 5 6 3R AfRe et & 3 3 4 71 3l 3 FAwn
¥ 1,800 3fT T 1,600 & 597 F9 & aF Teat Fr AfEF 3T AT F
Options:

. % T 3,400
. T 2,700
ox T 1,720
4o T 7,200

Question Number : 63 Question Id : 5832241310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the diameter of a circle is doubled. then its area will increase by

Options:
1 % two times

three times

b

» four times

d Sl LR

% SIX times

Question Number : 63 Question Id : 5832241310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ife RO o T ST ST Y I AT, JF $HeRT ST §¢ ST

Options:

SAEIGI

1 ® o
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Question Number : 64 Question Id : 5832241311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Suppose 1 is added to each odd place’s digit and 2 is subtracted from each even place’s digit in number 34258945,
Which of the following number will be in the fourth place from the left?

Options:
1 ® 4
2. v 3

3 % 3

[ ]

4. W

Question Number : 64 Question Id : 5832241311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT SfST & GEaT 34258945 F woiw WA T ¥ 3e H 1 AE B Far ik v vw e
& ¥h ¥ 2 uer fear Far g1 @A # ¥ Fi9-9r 3+ 39 9 ¥ I T o7 geme?

Options:

1 % 4
2« 3
2 % D
4 % 2

Question Number : 65 Question Id : 5832241312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In a certain code language. BUILT is written as 5#32(@ and TRIBE is written as @935€. In the same code, RULE will

be written as:
Options:

| x S@2
. % 9@
3 ® 3#5C
4 « 9H20



Question Number : 65 Question Id : 5832241312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v fARST Fe s # BUILT #r 5#32@ 3R TRIBE & @9350 for@r SraT #1 331 %< s & RULE
Fr or@r seem:

Options:

% @24
L« 3@
5 % 3#50
4 v 920

Question Number : 66 Question Id : 5832241313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Deepak walks 15 km north. He turns right and walks 8 km, then turns right and walks 15 km, again he turns left and
walks 9 km. Now. he again turns left and stops walking. At this point in which direction is Deepak facing?

Options:

1 % South

> « North

= % South-East
4 % South-West

Question Number : 66 Question Id : 5832241313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

&rask 15 et 3ot 1 T Terar 31 98 alfesd Hear @ 3 8 fonel I 8, 6T afgwy gz &
3R 15 forafr =orar 7 3 T a1e Azar ¢ 3t 9 RRer @rear 81 319 @@ T & aT A{zar 7 ik
T AT &1 SH AT &% HT HE fw fgam @ T F2

Options:

1_@3%

zgm

z B ‘ -qc\é-

, « RENTaReE

Question Number : 67 Question Id : 5832241314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
X 13 Y's son. Z is the mother of P and wife of X. How is Z related to Y?

Options:
1 % Mother

> % Sister-in-Law

5  Daughter-in-Law



4 % Sister

Question Number : 67 Question Id : 5832241314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

X, Y& qI & Z, P &# AT 3 X 1 aeit g1 Z, Y & . 22
Options:

| % AT

5 % TET

3.«—-“aE
4_&33_5?.

Question Number : 68 Question Id : 5832241315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the word which is different from the rest.
Options:

, % Manipur

> # Meghalaya
3 « Kohima
4 ® Sikkim

Question Number : 68 Question Id : 5832241315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3F g @ qA A 3T ¥ Hed gl

Options:

ATTT

1 B O

o % HETOIT
- SPITEAT
4.&6%%@

Question Number : 69 Question Id : 5832241316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If * stands for “addition’. / stands for ‘subtraction’, + stands for ‘multiplication’ and — stands for ‘division’, then:

20*8/8—-4+2="7
Options:
1 ® 40
o R 25



4. ¢ 24

Question Number : 69 Question Id : 5832241316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ofg « FRT &,/ HOT F, + TOT FH AR - HET F;ogeAEr g a
20+ 8/8-4+2=7

Options:
4 v 24
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Question Number : 70 Question Id : 5832241317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The headquarters of which one of the following organization is NOT in Geneva?
Options:

,  Food and Agricultural Organization (FAO)

- % Wworld Meteorological Organization (WMO)

- » Wworld Health Organization (WHO)

4 % World Trade Organization (WTO)

Question Number : 70 Question Id : 5832241317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frfofa wereat & & forae feaey Sear 7 78 82

Options:



| v TF 3R FW A (FAO)
, « TeF AtgA T #@erea (WMO)

e TareeT @erea (WHO)

g,

, % T93F MR FwSA (WTO)

Question Number : 71 Question Id : 5832241318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
United Nations (UN) Organization was founded in which of the following year?

Options:
1« 1945

A 1947
3 % 1954
4 % 1919

Question Number : 71 Question Id : 5832241318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TgFd T5¢ (TA) TIaA T A9 ford a9 & & 775 ofr?
Options:

|« 1945

. % 1947

- % 1954

L % 1919

Question Number : 72 Question Id : 5832241319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following award is associated with Agriculture?
Options:
, % Arjun Award

» % Shanti Swaroop Bhatnagar
-  Borlaug Award

4 % Vyas Samuman

Question Number : 72 Question Id : 5832241319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
feafafea 7 & Fia-ar TR ¥ gafa 27

Options:



1. ® 2 .:: :

-~ offer TIFT HTATT EFR

= 4 3

- x SATH HFATA
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Question Number : 73 Question Id : 5832241320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the first Indian to swim across English Channel?
Options:

, % P K Banerji
> « Mihir Sen

= % V. Merchant

4 #% Arati Saha

Question Number : 73 Question Id : 5832241320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 9w adT F ST 39T FF FT 97 B are
Options:

. v AR T

Question Number : 74 Question Id : 5832241321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who won the 2016 Wimbledon Men’s Singles championship?

Options:
1 # Rafael Nadal

> % Novak Djokovic
5 ® Roger Federer

4  Andy Murray

Question Number : 74 Question Id : 5832241321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁﬁmwméﬁ-‘mﬁqmw%ﬁéﬁaﬂﬂm

Options:



, % Thel STl

> % AEER FFiET
5 % T B

4 v TEH W

Question Number : 75 Question Id : 5832241322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who has the written the book *Two Lives’?
Options:

1 # Salman Rushdie

-~ » Arundhati Roy

3 o Vikram Seth
4 % Shiv Khera

Question Number : 75 Question Id : 5832241322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
wWOITIEN's history 15 valuable all twelve months of the vear. Worren have overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, I'ﬂElI'lLlelCtLlI‘iﬂg, athletics, business, and

exploration.
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Question Number : 77 Question Id : 5832241324 Question Type: TYPING TEST Display Question Number : Yes



Corrrmunal vielence in India includes acts of violence by followers of one religious group against that of
another religious group. This is often seen in the form of rioting. Religious violence, especially in recent times,
has generally involved the Hindus and the Muslims. There are also many incidents of violence among atheists,
Christians, Jews, and Sikhs Howewer, the riots armong Hindus and the Muslirms are known 1o be seer at a
larger scale. Along with dormestic organizations, the international hurman rights organizations have also
published reports on acts of religious violence in India. Between 2005 and 2009, an average of 130 people
died every year from cormrmunal violence. The state of Maharashtra reported the highest total number of
violence related fatalities over that 5 yvear period. On the other hand, Madhvya Pradesh experienced the highest
fatality rate per yvear per 100,000 people between 2005 and 2009, Over 2012, a total of 97 people died across
India from various riots related to religious viclence. The average annual death rate due to intentional violence
has been 7.9 per 100,000 people. Historical records of religious viclence are extensive for medieval [ndia, in
the form of corpus written by nurmerous Muslim historians. The total number of deaths of this period is
usually attributed to the figure by Professor K5 Lal, who estimated that between the years 1000 AD and 1500
AD, the population of Hindus decreased by 80 million. Religious violence in medieval India began in centuries
before the start of Delhi Sultanate, with the raids by Turko-Mongol, Persian and Afghan armies. It intensified
during Delbi Sultanate, continued through Mughal Empire, and then in the British colonial period. The
religious affiliations became an issue in the British period. Different political constituencies began to be
established for different religions. This was particularly true of the Muslim League, which was created
exclusively to cater to the interests of the Muslims. Furely Hindu organizations also appeared as Hindu Sabha.
The Hindu Muslim riots became more frequent when Muharmmad Ali Jinnah became the first Governor General
of Pakistan and the new border was demarcated in 1947, Thus, the Partition of India saw large scale strife and
bloodshed throughout the nation. Since then, India has witnessed sporadic violence sparked by underlying
tensions betvweeen sections of the Hindu and Muslim comrmunities. These conflicts also stem from the ideclogies
of Hindutva versus [slamic Extrermism. They are prevalent in certain sections of the population. Another major
violence incidence was the 1969 Gujarat riot, which started after an attack on a Hinduo termple in Ahmedabad
and expanded to major cities and towns of Gujarat. The violence and bloodshed continued over a week and
included attacks on Muslim chawls by their Dalit Hindo neighbours.
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